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Find the volumes of the following figures to the nearest tenth unled stated otherwme
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10. The diagram shows a storage building that consists of a cubic base and a pyramid-shaped top

a. Write an expression for the cube’s volume.
b. Write an expression for the volume of the pyramid-shaped top. R —
¢. Write a polvnomial expression to represent the total volume. T 2 1 111 T
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11. A farmer stores grain in the silo shown below. The shape of the silo is a cylinder with a radius of
8 feet and a height of 19 feet. On top of the cylinder is a hemisphere (half of a sphere) that also has a
radius of 6 feet. How much grain can be stored in the silo when it is completely filled? Round your

answer to the nearest tenth of a cubic foot. Show your work.
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12. The side view of a swimming pool is shown below.

321f
158 . 3%;‘-" . !
L Y
if you also know that the pool is 23 feet wide, what is the apprommate volume of water that it will take
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to fill the pool, expressed in whole cubic feet? .
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13. Bridger City has a cylindrical tank for storing water used by the residents. The tank has a diameter of 30

{eel and a height of 23 feet.
a. What is the volume of the tank? Explain how you find the volume.
b. One cubic foot of water is about 7.5 gallons of water. About how many gallons of water are in the tank?

Explain how you find the number of gallons.
€. The city would like to build an additional tank with a2 volume of 150,000 gallons. Find a possible dlamuer

and height for the new tank. Explain the method you use to find the dimensions.
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14. If the radius of a cone is multiplied by 4 and the height is multiplied by 2, by what amount wili the

volume be multrplled'?
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15. How many cubic fcet is of material is needed to il a rectangular box that has a length of 12° 67,
width of 8” 6", and a height of 4 feet? How many cubic yards of material will be needed?
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16. Concrete can be purchased by the cubic yard. How much will it cost to pour a slab 17 fect by 17 feet by 2

tnches for a patio if the concrete costs $40.00 per cubic yard? _
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